5-1 Trigonometric Identities

Find the value of each expression using the given information.

]
1. If cot & = > , find tan £ .

ANSWER:
fi
5

2. Ifcosx =

=
—, find sec x.
3

ANSWER:
3

-

1
3.Iftan & = —  find cot ¢x .
2

ANSWER:
5

4. Ifsin ff = —%,ﬁndcsc 7.

ANSWER:
6

5

-
-

]

1
5.1fcosx= — andsinx = , find cot x.

[y 3]

ANSWER:

32

35
6.If sec @ =2 and tan ¢ = +/3 , find sin ¢.

ANSWER:

3

2
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7 2.J10
7.1f csc @ = — and cot & = J_

J ]

, find sec .

ANSWER:

7310

20

8. If sec & =8 and tan & =3wﬁ,ﬁndcsc i

ANSWER:

87

21

Find the value of each expression using the given information.
9.sec & and cos & ;tan §=-5,cos & >0

ANSWER:

I J26
—== or
V26 26

sec 0= xl'rﬁ, cos 6=

_ 1
10. cot # and sec #;sin = —,tan & <0
2

ANSWER:

-
32

cot0=—2xﬁ,sec 0= - n

11.tan & and sin &; sec & =4,sin & >0

ANSWER:

Jis

tan 0= /15, sin 0= ==

=
12. sin & and cot #; cos € = ;,sin 7 <0

ANSWER:

sin@= -
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8
13. cos ffand tan & ; csc & = i,tan 7 >0

ANSWER:
3 355 V55

or ———, cos =
J55 55

14. sin # and cos &; cot # =8, csc & <0

tan 0 =

ANSWER:
: | J65 8 8./65
sin = === or—=———,C08 = —— or ———
(i) 65 Jes 65
. 9
15. cot & and sin &; sec 8 = ——,sin >0
ANSWER:
2 T . NTT
cot = ——— or————,sinf= ——
J77 77 9

|
16. tan & and csc #; cos = —E,sin <0

ANSWER:
tan 0= xu"ﬁ,csc 0= —-.T: or _WI5
2

J15 15
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